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E=SFE =N (BT +TCEEMIERER)
HEEUEE SEMBRARE
SH3E3/31HIRE
(BEfi7 : M)
EERIE RERIRES = AEPERSIEE EEXDET
BEEDER
TRBNEREE 13, 830, 335 13, 830, 335 0 13, 830, 335
RefEsE 8, 230, 980 8, 230, 980 8, 230, 980
SEXRINE 5,599, 355 5,599, 355 5,599, 355
BEEEE 10, 205, 138 10, 205, 138 0 10, 205, 138
ERBAEE 10, 158, 624 10, 158, 624 0 10, 158, 624
EEFESR 10, 158, 624 10, 158, 624 10, 158, 624
ZOMOEEEEE 46,514 46,514 0 46,514
FBENRMEmm 14,514 14,514 14,514
= AR 32,000 32, 000 32, 000
BEQSEET 24,035, 473 24,035,473 0 24,035,473
BE0ED
REBE 10, 407,616 10, 407,616 0 10, 407, 616
BERILD 3,874,099 3,874, 099 3,874, 099
SESRIEAS 6, 268, 811 6, 268, 811 6, 268, 811
ZOMORENEE 264, 706 264, 706 264, 706
[Eha=l= 0 0
BE085ET 10, 407, 616 10, 407,616 0 10, 407, 616
SR DS
HAS 10, 000, 000 10, 000, 000 10, 000, 000
IRERYE MR NS = 5E 3,627, 857 3,627,857 3,627, 857
OELUEEFIERAELE) -807, 643 -807, 643 -807, 643
HEEFEDEPEET 13,627, 857 13,627, 857 0 13,627, 857
EENRVEEOESET 24,035, 473 24,035,473 0 24,035,473
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